M pE H & & HF F
(%5Fn 34 3 3 31 HELE)

GO 5 - g e
£ . 2 £ q 2
OO W gE 32,394,562 T = A & B 5,509,392 T
1. + o (FH#HR1)) 1. E A & 2,551,684 T-H
B I i H 113,858.56 i 2,944,250 T-H (1) AARFASE SRR B - I g S 2E [ 44,430 T-H
= e 1 16,561.00 ni 1,092,680 T-H (2) b8 FL 7 IR B L 4 B 0 FH
6] " Hir 211,908.00 ni 643,945 T-H (3) 1 H 0 FH
17 FH RS b (L AR - B - 2 il Hl) 143,972.00 nf 34,777 FH (4) % & 2,050 TH
B o (o AR ) 120,117.00 ni 93 +H (5) B W& # & 2,477,763 TH
1) B H 1,306.30 nf 11,757 TH 6) & H & 27,441 TH
i & H 1,422.00 i 4,159 FH
H, 53 H 121,132.50 nf 425,540 TH i H) A 2,957,708 T
730,277.36 ni 5,157,201 T (1) = & 48,230 TH
) (2) i &> 2,335,855 T-Hj
& & 98,636.05 nf 13,763,193 FH (3) & & 413,251 TH
ot £ 7,337.80 ni 935,097 T-H (4) 1H & 160,372 FH
(£ B £ 18,864.55 i 1,290,125 T
i & fS 3,143.67 ni 154,469 FH U B PE + TE A E 50,411,525 T-H
Z ) th 23,861.50 ni 2,170,001 T B pE (U —=) 44,902,133 T
B kRO 0.00 nf 0 TH
151,843.57 i 18,312,885 T-H
3. = 1,179,194 it 6,005,936 T-H
4. B B - ®H - fi 53,972 JH 1,926,797 T-H
5. 1% B W7 750 1 980,193 T-H
6. & & M AN HE 85 A 6,101 T
7. M 7% Rl O M 4 fF 1,164 TH
8. ¥ 7 ~ v = 7 30 A 3,405 T-H
9. 22 AN &k iE & 1 fF 880 T
=M M 18,016,963 T[4
1. 88 & - #H & 8,347,552 T
2. ¥F TE = pE 9,314,981 T
3. & 1 & 0 TH
4. H = & 1,050 TH
5. R I 4 340,170 T-[
6. Hi EiA 4 13,210 T




